PROJECT AGREEMENT

between

THE GOVERNMENT OF THE UNITED STATES OF AMERICA and

THE ASSOCIATION OF SOUTHEAST ASIAN NATIONS

The above-mentioned parties hereby mutually agree to carry out a project in accordance with the terms set forth herein and the terms set forth in the attached Project Agreement Description.

Project No.

330649 - 0402

Agreement No.:

0002

Project Title :

ASEAN Workshop on Law Enforcement

Appropriation:

19-114 1022.2

Allotment Symbol: 3306

3306

Total Amount of Agreement — US\$ 9,850

Effective Date of Agreement - March 1, 1985

It is mutually agreed that within 60 days of completion of the project, a detailed evaluation of the project as implemented, accompanied by an accounting of funds expenditure, with supporting vouchers and receipts will be provided to the United States Embassy by the Secretary General of the ASEAN Secretariat.

Signed in Jakarta, in duplicate this 28th day of September 1984.

On behalf of the Government of

the United States of America

On behalf of the Association

of Southeast Asian Nations (ASEAN)

DESCRIPTION OF A PROJECT AGREEMENT between THE GOVERNMENT OF THE UNITED STATES OF AMERICA and THE ASSOCIATION OF SOUTHEAST ASIAN NATIONS

Project Title

ASEAN WORKSHOP ON LAW ENFORCEMENT

Coordinator

Government of Thailand

Project Duration

March 11 - 14, 1985

I. BACKGROUND

The growing problems of drug trafficking in the ASEAN region and the need to enhance counter measures in dealing with these problems.

Recommendation on law enforcement made by the previous seven ASEAN Drug Experts Meeting.

The joint statement by the 16th ASEAN Ministerial Meeting in Bangkok, June 1983, which underscored the continous danger posed by the drug problem in the region and the need for ASEAN member countries to exert more concerted efforts in combatting the drug menace.

II. RATIONALE

The need to identify and intensively study the problems and difficulties encountered in each ASEAN member country in respect of drug law enforcement

The need to find ways and means to strengthen regional cooperation among law enforcement agencies as well as officers of the ASEAN member countries.

The need to materialize ASEAN unity and coordinate efforts in drug law enforcement activities.

III. OBJECTIVES

To determine guidelines and procedures of cooperation

To establish an effectively functioning regional cooperation machine for ASEAN drug law enforcement agencies.

To foster sustained drug law enforcement activities in ASEAN member countries.

IV. METHODOLOGY

Each participating country will nominate two senior law enforcement officers, preferably one from the national coordinating agency and another from the special agency or unit in charge of drug law enforcement operations.

Each participating country is required to prepare and submit a paper describing the problems and difficulties encountered in law enforcement at national as well as regional and international levels. Recommendations on the solution to overcome these problems are to be included in the paper.

The Narcotics Desk Officer (NDO) will act as a resource person.

The programme for the Workshop during its 4 days of session will be as follows:

a. 1st day : Discussion will be centred on problems and difficulties

encountered at national as well as regional and

international levels.

b. 2nd day : Discussion on ways and means to overcome the

problems and difficulties mentioned in 4a above.

c. 3rd day : Preparation of the Workshop Report which shall

include, among others, the substance of the participants'

observations, formulation of their findings, their

recommendations and project proposals relevant to these observations, findings and recommendations.

The Workshop Report will be certified by all participants of the Workshop Group. The Group leader, to be chosen from among and by the members of the Group themselves,

will be responsible for the distribution of the Report, specified as follows:

- a. Six copies one copy to the National Drug Coordinating Agency of each ASEAN member country.
- b. Four copies to the ASEAN Secretariat through the NDO.

The ASEAN Secretariat will submit those project proposals to the ASEAN Standing Committee to seek support from Dialogue Countries after having obtained the ad referendum approval from the Heads of the National Drug Coordinating Agencies of the ASEAN member countries.

V. CRITERIA OF PARTICIPANTS

All participants must be government employees.

It is suggested that the participants have at least five years' experience at mid-management level of drug enforcement.

The participants must be proficient in oral and written English.

VI. BUDGET

a. Travelling Expenses for Participants

1. Air Fare

BD - BKK - BD : 2 persons

 $2 \times 510 = US$1,020$

JKT - BKK - JKT : 2 persons

 $2 \times 430 = US$ 860$

KL - BKK - KL : 2 persons

 $2 \times 220 = US$ 440$

MNL - BKK - MNL: 2 persons

 $2 \times 430 = US$ 860$

SIN - BKK - SIN: 2 persons

 $2 \times 270 = US$ 540$

2. Per Diem

2.1 Per Diem for 10 persons for 5 days at US\$ 70/day: $10 \times 5 \times 70$ = US\$ 3,500

2.2. Per Diem for 2 persons (host country)

for 5 days at US\$35/day

 $2 \times 5 \times 35$ = US\$ 350

b. Travelling Expenses for NDO

1. Air Fare

JKT - BKK - JKT = US\$ 430

2. Per Diem for 5 days at US\$70/day

 $1 \times 5 \times 70 = US \$ 350$

c. Organizing Expenses = US\$ 1,000

d. Contingency = US\$ 500

US\$ 9,850